\$345,113.06

29.79%



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 16, 2024

October 1, 2024

Progress Estimate Number	Contract ID	231020-B08	Pay Period Start	See NTP Date	Original Contract Amount	\$1,158,576.32
1	Prime Contractor	STF, LLC dba Traffic Control Company	Pay Period End	July 15, 2024	Net Change Order Amount Current Contract Amount	\$0.00 \$1,158,576.32

Original Comp	letion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amou	nt Complete						
July 18, 2024			Reviewed and Approved at the Cen	tral Office Controllers Office Level by	ramses1						
July 17, 2024		Reviewed and Appro	oved (and should be considered Dra	ft) at the Resident Engineer Level by	lincom						
July 16, 2024		Generated and Approved (and should be considered Draft) at the Project Office Level by									
Approval Date					By User						

	Contract Informational Dates												
Date Description	Original Completion Date	No Milestones Exist for Contract											
Acceptance Date													
Awarded Date	November 1, 2023	November 1, 2023											
Letting Date	October 20, 2023	October 20, 2023											
Notice to Proceed Date	April 1, 2024	April 1, 2024											
Open to Traffic Date													
Work Began Date													

October 1, 2024

Contract Total Pa	Contract Total Pay For Estimate No. 1											
		This Estimate	Previous	To Date								
231020-B08												
	Total Posted Items Pay	\$345,113.06	\$0.00	\$345,113.06								
	Gross Item Adjustments	(\$286,613.06)	\$0.00	(\$286,613.06)								
	Incentive	\$0.00	\$0.00	\$0.00								
	Disincentive	\$0.00	\$0.00	\$0.00								
	Liquidated Damage	\$0.00	\$0.00	\$0.00								
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00								
	·		\$0.00	\$58,500.00								
Contract Total Pa	yable This Estimate:	\$58,500.00										

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JNE0174	0010	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$1.000	6	\$6.00
	0020	6161005	CONSTRUCTION SIGNS	SQFT	\$1.000	114	\$114.00
	0030	6181000	MOBILIZATION	LS	\$117,000.000	0.5	\$58,500.00
	0050	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.300	538,937	\$161,681.10
	0060	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.260	451,671	\$117,434.46
	0070	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.650	11,350	\$7,377.50
Project JN	E0174 - To	tal					\$345,113,06

Contract Adjustments This Estimate

Overall - Total

		nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JNE0174	0010	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material			-6	\$1.00	(\$6.00)
	0020	CONSTRUCTION SIGNS	Material			-114	\$1.00	(\$114.00)

Revision 3/23/2023 Page 1 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 16, 2024

Progress Estimate Number	Contract ID	231020-B08 STF, LLC dba Traffic Control	Pay Period Start	See NTP Date	Original Contract Amount S	
1	Contractor	Company	Pay Period End	July 15, 2024	Amount Current Contract Amount	\$0.00 \$1,158,576.32

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JNE0174	0050	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material			-538,937	\$0.30	(\$161,681.10)
	0060	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material			-451,671	\$0.26	(\$117,434.46)
	0070	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material			-11,350	\$0.65	(\$7,377.50)
Total								(\$286,613.06)

Revision 3/23/2023 Page 2 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informatio	n
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
JNE0174	I 70-3(307)	Pavement marking	I-70, US 61	MONTGOMERY	in Lewis, Lincoln, I	Marion, Montgomery, Pike	e, Ralls and Warren Counties
Totals by J	ob Number	S					
JNE0174					This Estimate	Previous	To Date
	Posted	I Item Pay			\$345,113.06	\$0.00	\$345,113.06
	Gross	Item Adjustme	ents		(\$286,613.06)	\$0.00	(\$286,613.06)
			Gross	Item Pay	\$58,500.00	\$0.00	\$58,500.00
	Incenti	ve			\$0.00	\$0.00	\$0.00
	Disinc	entive			\$0.00	\$0.00	\$0.00
	Liquid	ated Damages			\$0.00	\$0.00	\$0.00
	Othor	Contract Adjus	etmonte		\$0.00	\$0.00	\$0.00

Revision 3/23/2023 Page 3 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JNE0174, Item 6123000A, Project Item Line Number 0010, Material Set 6123000A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Waiting on certifications.	suttoc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0174, Item 6161005, Project Item Line Number 0020, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Waiting on certifications.	suttoc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0174, Item 6205902A, Project Item Line Number 0050, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Waiting on certifications.	suttoc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0174, Item 6205902A, Project Item Line Number 0050, Material Set 6205902A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Waiting on certifications.	suttoc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0174, Item 6205902A, Project Item Line Number 0050, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Waiting on certifications.	suttoc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0174, Item 6205903A, Project Item Line Number 0060, Material Set 6205903A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Waiting on certifications.	suttoc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0174, Item 6205903A, Project Item Line Number 0060, Material Set 6205903A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Waiting on certifications.	suttoc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0174, Item 6205903A, Project Item Line Number 0060, Material Set 6205903A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Waiting on certifications.	suttoc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0174, Item 6205906A, Project Item Line Number 0070, Material Set 6205906A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Waiting on certifications.	suttoc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JNE0174, Item 6205906A, Project Item Line Number 0070, Material Set 6205906A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Waiting on certifications.	suttoc2	Acknowledged

Revision 3/23/2023 Page 4 of 8



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
231020-B08	JNE0174	0001	0010	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	12.00	0.00	12.00	EA	6.00	\$1.00	\$6.00
		0001	0020	6161005	CONSTRUCTION SIGNS	227.00	0.00	227.00	SQFT	114.00	\$1.00	\$114.00
		0001	0030	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$117,000.00	\$58,500.00
		0001	0040	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	12,191.00	0.00	12,191.00	LF	0.00	\$0.20	\$0.00
		0001	0050	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,012,243.00	0.00	2,012,243.00	LF	985,682.00	\$0.30	\$295,704.60
		0001	0060	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	1,561,697.00	0.00	1,561,697.00	LF	983,937.00	\$0.26	\$255,823.62
		0001	0070	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	44,900.00	0.00	44,900.00	LF	21,205.00	\$0.65	\$13,783.25
	Project JI	NE0174 - To	otal Value	Posted to D	Date as of Report Generated Date							\$623,931.47
231020-B08 Ove	erall - Total	Value Post	ed to Dat	te as of Repo	ort Generated Date							\$623,931.47

Page 5 of 8 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JNE0174

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	7/10/24	7/10/24	6.00	EA		0.000				
0020	6161005	CONSTRUCTION SIGNS	7/10/24	7/10/24	114.00	SQFT		0.000				
0030	6181000	MOBILIZATION	7/10/24	7/10/24	0.50	LS		0.000				
0050	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	6/10/24	7/9/24	90,978.00	LF		0.000				
			6/11/24	7/9/24	120,372.00	LF		0.000				
			6/12/24	7/9/24	99,111.00	LF		0.000				
			6/13/24	7/9/24	30,265.00	LF		0.000				
			6/24/24	7/9/24	21,050.00	LF		0.000				
			6/27/24	7/9/24	88,458.00	LF		0.000				
			7/1/24	7/9/24	84,715.00	LF		0.000				
			7/2/24	7/9/24	3,988.00	LF		0.000				
0060	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAINT	6/10/24	7/9/24	125,494.00	LF		0.000				
			6/11/24	7/9/24	67,038.00	LF		0.000				
			6/12/24	7/9/24	84,235.00	LF		0.000				
			6/13/24	7/9/24	9,708.00	LF		0.000				
			6/24/24	7/9/24	76,780.00	LF		0.000				
			6/27/24	7/9/24	77,282.00	LF		0.000				
			7/1/24	7/9/24	9,472.00	LF		0.000				
			7/2/24	7/9/24	1,662.00	LF		0.000				
0070	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAINT	6/11/24	7/9/24	343.00	LF		0.000				
			6/13/24	7/9/24	2,723.00	LF		0.000				
			6/27/24	7/9/24	2,902.00	LF		0.000				
			7/1/24	7/9/24	5,056.00	LF		0.000				
			7/2/24	7/9/24	326.00	LF		0.000				

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 6 of 8

Jul 19, 2024



Line Item Adjustments by Estimate

Contract ID: 231020-B08

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JNE0174	0010	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	Material -		1	Jul 16, 2024	SYSTEM	(\$6.00)	
				- Total				(\$6.00)	
			Material - Total					(\$6.00)	
	0010 -	010 - Total						(\$6.00)	
	0020	CONSTRUCTION SIGNS	Material		1	Jul 16, 2024	SYSTEM	(\$114.00)	
				- Total				(\$114.00)	
			Material - Total					(\$114.00)	
	0020 -	- Total						(\$114.00)	
	0050	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	Material		1	Jul 16, 2024	SYSTEM	(\$161,681.10)	
				- Total				(\$161,681.10)	
			Material - Total					(\$161,681.10)	
	0050 -) - Total						(\$161,681.10)	
	0060	6 IN. YELLOW HIGH BUILD WATERBORNE PAINT	Material		1	Jul 16, 2024	SYSTEM	(\$117,434.46)	
				- Total				(\$117,434.46)	
			Material - Total					(\$117,434.46)	
	0060 -	0060 - Total						(\$117,434.46)	
	0070	12 IN. WHITE HIGH BUILD WATERBORNE PAINT	Material		1	Jul 16, 2024	SYSTEM	(\$7,377.50)	
				- Total				(\$7,377.50)	
			Material - Total					(\$7,377.50)	
	0070 - Total							(\$7,377.50)	
JNE0174 - Total							(\$286,613.06)		
Overall -	Overall - Total							(\$286,613.06)	

MoDOT

Contract Adjustments for Contract - 231020-B08

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 8 of 8